Prolog Programming Assignment #2: A Favorite Pokemon KB plus
Simple List Processing Exercises

Learning Abstract

The target of this assignment was to familiarize the students with Prolog and list
processing. Most of this assignment involves interacting with Pokemon KB which is
provided. There are a few list-processing exercises and tasks in the end. It helped me
understand the basics of list processing and Prolog.

Task 1 - Pokemon

Part 1: Initial Pokemon KB

%
%
% --- File: pokemon.pro

% --- Line: Just a few facts about pokemon
%

%
% --- cen(P) :: Pokemon P was "creatio ex nihilo"

cen(pikachu).
cen(bulbasaur).
cen(caterpie).
cen(charmander).
cen(vulpix).
cen(poliwag).
cen(squirtle).
cen(

%
% --- evolves(P,Q) :: Pokemon P directly evolves to pokemon Q

evolves(pikachu,raichu).
evolves(bulbasaur,ivysaur).
evolves(ivysaur,venusaur).
evolves(caterpie,metapod).
evolves(metapod,butterfree).
evolves(charmander,charmeleon).
evolves(charmeleon,charizard).
evolves(vulpix,ninetails).
evolves(poliwag,poliwhirl).
evolves(poliwhirl,poliwrath).
evolves(squirtle,wartortle).



evolves(wartortle,blastoise).
evolves(staryu,starmie).

%
% --- pokemon(name(N),T,hp(H),attach(A,D)) :: There is a pokemon with
% --- name N, type T, hit point value H, and attach named A that does

% --- damage D.

pokemon(name(pikachu), electric, hp(60), attack(gnaw, 10)).
pokemon(name(raichu), electric, hp(90), attack(thunder-shock, 90)).

pokemon(name(bulbasaur), grass, hp(40), attack(leech-seed, 20)).
pokemon(name(ivysaur), grass, hp(60), attack(vine-whip, 30)).
pokemon(name(venusaur), grass, hp(140), attack(poison-powder, 70)).

pokemon(name(caterpie), grass, hp(50), attack(gnaw, 20)).
pokemon(name(metapod), grass, hp(70), attack(stun-spore, 20)).
pokemon(name(butterfree), grass, hp(130), attack(whirlwind, 80)).

pokemon(name(charmander), fire, hp(50), attack(scratch, 10)).
pokemon(name(charmeleon), fire, hp(80), attack(slash, 50)).
pokemon(name(charizard), fire, hp(170), attack(royal-blaze, 100)).

pokemon(name(vulpix), fire, hp(60), attack(confuse-ray, 20)).
pokemon(name(ninetails), fire, hp(100), attack(fire-blast, 120)).

pokemon(name(poliwag), water, hp(60), attack(water-gun, 30)).
pokemon(name(poliwhirl), water, hp(80), attack(amnesia, 30)).
pokemon(name(poliwrath), water, hp(140), attack(dashing-punch, 50)).

pokemon(name(squirtle), water, hp(40), attack(bubble, 10)).
pokemon(name(wartortle), water, hp(80), attack(waterfall, 60)).
pokemon(name(blastoise), water, hp(140), attack(hydro-pump, 60)).

pokemon(name(staryu), water, hp(40), attack(slap, 20)).
pokemon(name(starmie), water, hp(60), attack(star-freeze, 20)).



Part 2: Interaction demo with the Initial KB

?— consult('/Users/LENOV
true,

O Prolog-pokemon . pro' ).

/— cen(pik
true.

?= ceni(raichu) .

quirtle, wartortle).
rartortle, squirtle).

quirtle, blastois




"= evolves(L,Y), evolves(Y,Z),vrite(X) vrite('=>"' ), write(Z), nl, fail
bulbasaur->venusaur

caterpie->butterfree

charmander->charizard

polivag->polivrath

squirtle-sblastoise

7- pokemon{nane(X),_,_._) write(X).nl fail.
pikachu
raichu
bulbasaur
ivysaur
venusaur
caterpie
netapod
butterfrees
charmnander
charmeleon
charizard
vulpix
ninetails
polivag
polivhirl
poliwrath
squirtle
wartortle
blastoise
starvyu
starmie

7— pokemon(name(X). fire._._).write(X).nl. fail
charmander

charmeleon

charizard

vulpix

ninetails

?7— pokenon(name(i) . ¥,_._).write{ 'nks(nane(' ), vrite(f) write( '), kind("'), wvrite(¥), write("'))"').nl, fail.
nk=s(name(pikachu) . klnd(HlFCtrlu\\

nks({name(raichu) ., kind(electric))

nks(name{bulbasaur), kind(gra:

nk=s(name(ivysaur). kind({gr

nks(namne(venusaur), kind(g

nk=i{name(caterpie) . kind(gr

nks({name({metapod) , kind{grass

nksi{nane{butterfres), kind(gra:

nks(name(:harmander),kind(flr

nksi{name(charmeleon) kind(fir

nks({nane(charizard), kind{fire

nks(namne{vulpix) kind{fire))

nk=s{name(ninetails) kind{fire))

nksi{nane(poliwvag) . kind(water))

nks(name{polivhirl), kind{water))

nks(name({poliwrath), kind({water))

nks(name(squirtle), kind(water))

nk=zi{name(wartortle). klnd(watﬁr)
nks(name(blastoise) . kind({watexr)
nksi{nane{staryu), kind{water))
nks(namne(starmnie), kind({water))

)
)

?7- pokemon(nane(X)._,_.attack(waterfall._)}).
¥ = wartortle ;

?— pokemon(name(X)._,_.attack(poison-powder._)).
¥ = venusaur ;

?— pokenon(_,water,_,attack(i,_)), write(d) nl, 6 fail.
water-gun

amnnesia

dashing-punch

bubble

waterfall

hydro-pumnp

=lap

star-freeze

?— pokemon(name({polivhirl),_ hp(HP)._).
HF = 80

?7— pokenon(name(butterfree)._ hp(HP)._)
HP = 130.




]'.
1ichu
venusaur
butterfr

[

,nl, fail.

write{HP)




Part 3: KB Extension

olw _,X),write(X),nl, fail.

on (name (Name) , X, , ).
non (name (X), , , ),write(X),nl,fail.
s+ _sattack(X, )),write(X),nl, fail.
on(name (X), , ,attack(Y, )),write(¥),nl,fail.
_)),write (Name) ,write >"),write(Y).
n(name (Name), , ck(X, )),write(Name),write('->"),write(X),nl, fail.
1on (name (Name) , , ck( ,Y Y > 55.
name (Name) , ,hp(HP), ),HP > 100.
non (name (Name) , ,hp(HP),attack( ,¥)),HP > 100,Y > 55.
powerful but vulnerable (Name) :- [ 1on (name (Name) , ,hp (HP) ,attack(_,Y)),HP < 10]

: (Name, Type) : o on (name (Name) , TYL

1 (name
,nl,fail.

ne) ,wri




Part 4: Interaction demo

with the Augmented KB

Y— consult(

_h axr m:-.nn:lr:r-
vulpix
poliwvag
=quirtl

?—_diépla?_nct_cﬁ'

met. apo ||:l
hurrwrtrﬁp

ninetails
poliwhirl
poliwrath
wartor ]
bla=toi=se
starmnie

atori({Namne,

vulpix
ninetails.

Hame
Hame

Hame =
Hame
Hame
Hane
Hame
Hame
Hame
Hame

poliwag
poliwhirl
l:u 113 1wra ath

Al=ers=s-

/LENOVO.-Prolog-pok

fire).

-

F

!— generator{Namne. w

emnon . pro’




ator{Name,

.Inrﬂuﬂwl

- eon

1izard
lllpl" .
ninetails

ey g ey e e
W o o

?7— generator(Name, w
Hame =

Hame = pol iwhirl
Hame = poliwrath
Hame = = :[u irtle ;
Hame

l — ':I'P—'I]_P—'l- a0
Hane
Hane

7— geners
Hame
Hamﬁ

H—ﬂru_ = metapod ;
Hame = butterfree.

?— display_names.
pikachu
raichu

met —I'FII od
butterfrees
charmander

armeleon
charizard
vulpix
ninetails

=] ll 1wa




?— display attacks.

bukble
waterfall
hydro—pumnp
=1ap

=
=

g —u

contu :
wvater-gun
bubble
=lap

hulhazaur—}leech—:di
tru=




indica
pikachu-
thunder—-=h

on—powvder
gnaw
spore
buttertr i1rlwind
charmander— :

charmneleon-

dashin

squirtle->bubble
wartortle->waterfall
blastoil shydro—pumnp
= .fl_l:l

tar—fr

powverful (Hame) .

| raichu ;
VEIL W A
buttertree
charizard
ninetails
wartor




7— tough{Name)
Hamne venusaur
Hane butterfree
Hane charizard :
Hane polivrath
REVTS bla=stoi=e

7- awvesomne(Hamne) .
Hame venusaur
Hane butterfree
Hane charizard
Hame blastoise ;

*

7= poverful but_wvulnerable(Hames) .
REVTS! raichu ;

Hamne ninetails

Hame wartortle

7- type(=gquirtle, Type).
Type = water.

7—- type{caterpie, Type) .
Type = grass.

?7— type(Hane, fire) ,write(Name),.nl, fail.
charmander

charmeleon

charizard

vulpix

ninetalils

7— dump_kind(water).
pokenon{nane(polivag).water. . hp(bl
pokemoniname(polivhirl) . water. hp(
pokemon{name{polivrath), water, hp(
pokenoni{namne{squirtle), wvater, hp(4d
pokenon{name(wartortle) . water, hp(
{ {
( ).
{ 0

J.attack(water—gun. 30))

80) .attackianne=sia, 30))

140) ,attack({dashing—punch, 50))
0),attack{bubble, 10))

80) .attack(waterfall.6l))

140) . attack(hydro-punp. 60) )
attacki(=slap, 20))
j,attacki{star—fresze, 20))

pokemon({name(blastoise) . water. hp
pokemon{namne(starvu) ., wvater, hp(40
pokemnoninamns(starmie), vater, hp(b

?7— dump_kind{grass).
pokenon{namne(bulbasaur),grass, hp(4
pokenon{namne( ivysaur) .grass. hp(
pokemon { namne ( venusaur ) , grass, hp

{

(

(

[ y,attack( leech—-=seed, 20))
&0
(1
pokemon(name(caterpie).grass, hp(5
70
P

0
attack(wvine-wvhip, 30))
0).attack(poison—povder, 70))
J.,attack{gnaw, 20))
ttauk(btun —=spore, 200)
130) ,attack(whirlwind.80))

pokemnoninamne({mnetapod) , gras=s. hp(
pokemnon{name(butterfree) . grass.h

).
4
0
).
(




?7— family(pikachu) .
pikachu raichu

?— family(bulbasaur) .
bulbasaur ivysaur venusaur
true=.

?— family{caterpie).
caterpie mnetapod butterfrees
tTus.

7= families.

pikachu raichu

bulbasaur ivysaur venusaur
caterpie metapod butterfrees
charmander charmeleon charizard
viulpix ninetails

poliwag poliwvhirl poliwrath
squirtle wartortle blastoise
=taryu starmie

-

/= lineage(pikachu) .
pokenon(name(pikachu) . electric, hp(b
pokemnon(name(raichu) . electric, hp(90

0),attack({gnaw, 10))
},attack(thunder—-shock. 903 )

7— lineage(squirtle).
pokemnon(name(squirtle)  water, hp(40)
pokenon{nane{wartortle), wvater, hp( 80
pokenon{nane(blastoise) , vater. hp(l4
trus

.attack(bubble.10))
V,attacki{wvaterfall 60))
0).attack(hydro-punp, 60 )

7= lineage(wartortle).
pokemnon(namne(wartortle), vater, hp( 80
pokenon({name(blastoise) ., vater, hpi(l4

}.attack{watertall.60))
0).attack{ hydro—punp. 60} )

-5

{— lineage(blastoi=se).
pokenon(nane(blastoi=se) . water hp(140) . attack(hydro-—pump. 60} )

=5

{— lineage({charmander).

pokemon(nane(charmander) . fire hp(50).attack(scratch,10))
pokemnon (name(charmeleon) , fire, hp(SU),attack(SlaSh,SD))
pokenon{nane{charizard), fire hp{l?70), attack{royal-blaze, 100} )

true
- B




Part 5: KB Augmented by 12 Pokemon

%
%
% --- File: pokemon.pro

% --- Line: Just a few facts about pokemon
%

%
% --- cen(P) :: Pokemon P was "creatio ex nihilo"

cen(pikachu).
cen(bulbasaur).
cen(caterpie).
cen(charmander).
cen(vulpix).
en(poliwag).
cen(squirtle).
cen(

Q

%
% --- evolves(P,Q) :: Pokemon P directly evolves to pokemon Q

evolves(pikachu,raichu).
evolves(bulbasaur,ivysaur).
evolves(ivysaur,venusaur).
evolves(caterpie,metapod).
evolves(metapod,butterfree).
evolves(charmander,charmeleon).
evolves(charmeleon,charizard).
evolves(vulpix,ninetails).
evolves(poliwag,poliwhirl).
evolves(poliwhirl,poliwrath).
evolves(squirtle,wartortle).
evolves(wartortle,blastoise).
evolves(staryu,starmie).

%

% --- pokemon(name(N),T,hp(H),attach(A,D)) :: There is a pokemon with
% --- name N, type T, hit point value H, and attach named A that does

% --- damage D.

pokemon(name(pikachu), electric, hp(60), attack(gnaw, 10)).

pokemon(name(raichu), electric, hp(90), attack(thunder-shock, 90)).
pokemon(name(voltrob), electric, hp(40), attack(thunder-shock, 65)).

pokemon(name(raikou), electric, hp(90), attack(volt_switch, 85)).



pokemon(name(eelektross), electric, hp(85), attack(spark, 115)).

pokemon(name(bulbasaur), grass, hp(40), attack(leech-seed, 20)).
pokemon(name(ivysaur), grass, hp(60), attack(vine-whip, 30)).
pokemon(name(venusaur), grass, hp(140), attack(poison-powder, 70)).
pokemon(name(tangela), grass, hp(65),attack(grass-knot, 55)).
pokemon(name(vileplume), grass, hp(75),attack(solar-beam,80)).

pokemon(name(caterpie), grass, hp(50), attack(gnaw, 20)).
pokemon(name(metapod), grass, hp(70), attack(stun-spore, 20)).
pokemon(name(butterfree), grass, hp(130), attack(whirlwind, 80)).
pokemon(name(jumpluff), grass, hp(75),attack(fairy-wind, 55)).

pokemon(name(charmander), fire, hp(50), attack(scratch, 10)).
pokemon(name(charmeleon), fire, hp(80), attack(slash, 50)).
pokemon(name(charizard), fire, hp(170), attack(royal-blaze, 100)).
pokemon(name(cyndaquil), fire, hp(39), attack(flame_wheel)).

pokemon(name(vulpix), fire, hp(60), attack(confuse-ray, 20)).
pokemon(name(ninetails), fire, hp(100), attack(fire-blast, 120)).
pokemon(name(blaziken), fire, hp(80), attack(blast-burn, 120)).
pokemon(name(pyroar), fire, hp(86), attack(fire-fang, 68)).

pokemon(name(poliwag), water, hp(60), attack(water-gun, 30)).
pokemon(name(poliwhirl), water, hp(80), attack(amnesia, 30)).
pokemon(name(poliwrath), water, hp(140), attack(dashing-punch, 50)).
pokemon(name(goldluck),water,hp(80),attack(confusion,82)).
pokemon(name(inteleon),water,hp(70),attack(focus-energy,85)).
pokemon(name(squirtle), water, hp(40), attack(bubble, 10)).
pokemon(name(wartortle), water, hp(80), attack(waterfall, 60)).
pokemon(name(blastoise), water, hp(140), attack(hydro-pump, 60)).
pokemon(name(ducklett),water,hp(62),attack(brave-bird,44)).

pokemon(name(staryu), water, hp(40), attack(slap, 20)).
pokemon(name(starmie), water, hp(60), attack(star-freeze, 20)).

display_cen :- cen(X),write(X),nl,fail.

display_not_cen :- evolves(_,X),write(X),nl,fail.
generator(Name,X) :- pokemon(name(Name), X, , ).
display_names :- pokemon(name(X), , , ),write(X),nl,fail.

display_attacks :- pokemon(_, , ,attack(X,_)),write(X),nl fail.



display_cen_attacks :- cen(X), pokemon(name(X),_, ,attack(Y,_)),write(Y),nl,fail.
indicate_attack(Name) :- pokemon(name(Name), , ,attack(Y, )),write(Name),write('->"),write(Y).
indicate_attacks :- pokemon(name(Name), , ,attack(X, )),write(Name),write('->"),write(X),nl,fail.
powerful(Name) :- pokemon(name(Name), , ,attack(_,Y)),Y > 55.

tough(Name) :- pokemon(name(Name),_,hp(HP),_),HP > 100.

awesome(Name) :- pokemon(name(Name),_,hp(HP),attack(_,Y)),HP > 100,Y > 55.

powerful_but_vulnerable(Name) :- pokemon(name(Name), ,hp(HP),attack(_,Y)),HP < 101,Y >
55.

type(Name, Type) :- pokemon(name(Name), Type, , ).

dump_kind(Type) :-
pokemon(name(Name), Type,hp(HP),attack(A,D)),write(pokemon(name(Name), Type,hp(HP),att
ack(A,D))),nl,fail.

family(Name) :- write(Name),write(' '),evolves(Name, X),write(X),write(' '),evolves(X,Y),write(Y).
families :- cen(X),nl,write(X),evolves(X,Y),write(" '),write(Y),write(' '),evolves(Y,Z),write(Z),fail.

lineage(Name) :-

pokemon(name(Name), Type,hp(HP),attack(A,D)),write(pokemon(name(Name), Type,hp(HP),att

ack(A,D))),evolves(Name,X),nl,pokemon(name(X),T1,hp(HP1),attack(A1,D1)),write(pokemon(na
me(X),T1,hp(HP1),attack(A1,D1))),evolves(X,Y),nl,pokemon(name(Y),T2,hp(HP2),attack(A2,D2
)),write(pokemon(name(Y),T2,hp(HP2),attack(A2,D2))).



Part 6: Interaction demo with the KB Augmented by 12 Pokemon

?— display_not_cen.
raichu

n lnr—'f ails
polivhirl
poliwrath

?— generator(Name, fire) .
Hamne : r
Hame = charmeleon
Name = charizard

Hame = cyndaquil

Hamne vulpix ;

Name = ninetails

Name = blaziken

pVIoar.

pullw:; :
polivhirl
ame = poliwrath
Hame goldluck
Hame = inteleon
Hamne = -qu irtle
Hane
Hane
Hane
Hamne
Hamne




?— generator({HName
Hame pikachu
Hamne raichu ;
Hane voltrab
Hame raikou
Hame

L

L

.electric).

eelektross.

Y= generator{Hamne,

bulba=saur
ivy=saur

Hane
Hame
Hame
Hame
Hamne
Hame
Ham

Ham

Hamne

L

vEnusaur |
tangela
vileplune
caterpie

mnetapod
buttertree
jumpluff

L

?— display_nanes.
pillkachu
raichu
voltrob
raikou
eslektross
bulbasaur
ivysaur
vEnusaur
tangela
vileplumne
caterpie
netapod
butterfree
junpluf f
charmander
charmeleon
charizard
cyndaquil
vulpix
ninetails
blaziken
pyroar
poliwag
poliwhirl
poliwrath
goldluck
inteleon
squirtle
vartortle
blastoi=se
ducklett
staryu
=tarmie




?— display_a
gnaw
thunder

vine-whip
l=on-powder

gnaw
un—-spore

ng-punch
sion

]:n_:]:l]:l.l.E |
wvaterfall
hydro—pumnp




7= indicate_attacki{charmander) .

ne—whip
poison—-powder
knot
"1lwplu1 ar—beamn
aterpi

11—:5:1:||:|1"E:
]:|‘|11' 1- erfre= hirlvind
. mu]:l l ut t

vulpa
ninetai
blazilk

PVIroa

polivhirl-

poliwrath

goldlu:

inteleon-:{focus—energy

=qulirtl mbble

wartortle-s>wvaterfall

= hydro—-pumnp

~rave-bird

7— powerful (Hame) .
Hame raichu
Hame voltrob
Hame ~aikou
Hame eslektro
Hamne TvEnusaur
Hame vileplumne
NHane butterfrees
Hame 'hﬂr1:%rd
ails
blaziken
PYTOoar
goldluchk
inteleon
wartortle

-




!— tough(Namne) .
Hamne -
Hamne

Bl e e B g
iy i sl sl

oo

?— powerful_ but_wvulnerable({Hames) .

Hame = raichu :

Name = woltrob ;

Hame = raikou
eslektro=s=s
vileplune
ninetails
blaziken
pyroar
goldluclk
intel

Hame = wartortle

e

-

?— typeilsquirtle, Type).

ater.




cyndaguil
vulpix

ninetails

blaziken
PYIOaxr

dunp
=mon
oI
Mo
mon
=mon
MO
Smon

Mo
D EmMOR |

=) i
oIl

= [miy}

true=.

{hydro-punp
ater hp(62) Je(bray
er. hp(d40

ater, hp(60),attack(

kivhirlwind
fairy-wind, 55




7= familv{caterpie).
caterpie metapod butterfree
true=.

& ar :nu—-]_
“ulp b4 nlnetmll;

poliwag poliwvhirl poliwrath
squi tortle blast

eon chax

squirtle war

thuhdHl—;hl

r

terfall,
]:J-‘_I.T'jl‘ o—pPumn l;‘ P

rater, hpféﬂﬁ
_'E-."-Ett.r—'l hp{80]
stoise) ,water, hp( l-l

tm

pokemnon .water hp(l40), atts

pokemno atc h l“ 1)
1:" oleem Ihl name

de, 900

;blaﬁe_lnnjj




Task 2 - List Processing

Head/Tail Exercises

?— [H|T] =
H = red,
T = [vellow,

[red, blue,

vellow,
blue.

7— [H.T] = [red, blue,

?- [F]_]
F = red.

2= [_1[SI_]]

c = 15-"'5]' low.

[red, blus,

yvellow,

[red, blue,

vellow,

?— [F|[SIR]]
red,
vellow,

[blus=,

[red, blue.

vellow,

ist = [this|[and. that]].
[this, and, that].

= [this=s,
[thi=s, and.

and, that].
that] .

[2.b.c].

7- [al[b.c]]
true.

7— [cell(Row,Column) |Rest] =
R Column
Fe=t

cellil, 3)].

tvo{do=s, deux),

=[one{un,uno},
1, uno),

wol(do=s, deux), three(thois,

[E:Ee]_ 1 I: 1 . 1 :l ;

thres({thois,

tres)].

celli{l,3)].

tres)].




List Processing Code

first ([H| 1, H).
rest([_IT], T)-

CCIHI[1], B).
t([_ITl, R

_1,H).
[_IT].E) - 1, nth T,E) .

writelist([]).
i [H|T]) :- write(H), nl, writelis

([1,0).
m ( [Head|Taill, Sum) :- sum(Tail, SumCfTail), Sum is Head + SumQfTail.

add_fir X, L, [X|L]) .

[1,[X]1).
[H|T], [H|TX]) :- add 1

a(0,[1).
a(N, N : is N - 1, iota(K,IotaK), add_last(N,IotaK,IotaN).

k(L,Item) :- yth (L, Length}), ra m(0,Length,RN), nth(RN,L,Item).

(1, [1)-
t([HIT],
t([H|T], [HITS])

IotaN), p 1 ) ult) .

Item, [Item]| : N - 1, make list(K, Item,

but fi

righ
Noun) .

ignit
] Phr

A




Demo for Example List Processors

?7— fir=st([apple].First).
First = apple.

?7— first([c.d.=e.f.g.a.b].F).
P

?— nth{0, [zero,one, tvo, three, four],Elenent ) .
Element = zero

"— nth(2, [four, three, tvo, one, zero] ,Elenent ) .
Element = one

— writelist([red, yvellow, blue, green. purple,. orange] ) .
red

vellow

blue

green

purple

orange

trus=.

Y= sum{[],5um)} .
Sum = 0.

P— =um([2.3.5,.7.11].5un0fPrines) .

SunOfPrines = 28,

{— add_first({thing.[].Re=sult).
Kesult = [thing].

?— add _first(racket,[prolog,haskell,rust].Languages) .
Languages = [racket, prolog, haskell. rust].

?7— add_last(thing,[].Re=sult).
Fesult = [thing]

"= add_lasti{rust, [racket, prolog, haskell], Languages) .
Languages = [racket, prolog, haskell, rust]




8. 9]

?— pick([cherrv.peach,apple,blusberrv].Pie) .
Fie blueberry .

7= pick([cherrv,peach,.apple.blusberrv].Pie).
Pie = apple

?— pick({[cherry.peach,apple.blueberry].Pie
FPie = cherryvy

?— pick([cherry.peach.apple. blusberry].Pie
Fie = peach

?— pick([cherrvy, peach,apple,blueberry],
Fie = apple

7= picki[cherrvy.peach.apple. blueberry].
Pie = peach

Y= pick([cherrv,peach.apple.blueberry].FPie
Pie = peach

e =et([1.1.2,1.2,3,1.2.3.4].Se
2., 3, 47

bot, bit]




Demo for List Processing Exercises

product{[].F).

?- product([1l.3.5,
Froduct = 945.

?— i1ota(9.Ilota).producti{lota.Product).
Iota = [1 4, 5, 6, 7, 8, 9]
Froduct 3 ]

?— but_firsti{[a.b.c].X).
i = []:I_. .:;] .

?— but_last(
¥ = [a, b,




77— i=_palindrome([=®]).
true=

7= 1= _palindrome{[a.b.c]).

{— 1= palindrome([a.b.b.a]).
true

?7- 1is palindrome([1.2.3.4.5.4.2.3.11).

?— 1= _palindrome{[c.o0.f.f.e.e.e.e. f.f.o.c]).
trus=

77— noun_phrase(NP) .
HP = [the, calm, dog]

noun_phrase(HP) .
= [the. tasty., pirate]

noun_phrase(NF) .
= [the, tasty, ninjal]

noun_phrase(NP) .
= [the., rightous. ninijal]

noun_phrase(NP) .
= [the, tasty., ninja]

noun_phrase(NP) .
= [the, hardwvorking, cat]

Y— =entence(S).
[the., hardworking. woman, walked. the. rightous. cat]

?7- =entence(S) .
[the, tasty., cat, 1gnited. the, rightous. woman]

/- s=entence(S5) .
[the, calm, pirate, fought, the, tasty. ninja]

sentence(S) .
[the, rightous, dog, jumped., the, hardworking., robot]

wonan, fought, the, witty. student]
/- =entence(S).

[the., ta=sty. ninja, threw, the., calm. robot]

dog. jumped, the. calm. pirate]




rorking, robot., jumped. the., hardworking., man]

punched, the, =silly. cat] .

pirate, fought, the, witty,

jumped, the, hardwvorking, student]

woman, punched, the. calm. robot]

dog, punched, the, calm. woman]

student, ran, the,

ran, the, witty,

threw, the, calm, student]




